FINANCIAL  REPORTS
Show:
   1)
Financial Strength

2) Profitability

3) Management efficiency

There are two important reports:

1.
Balance Sheet :

It is a summary which contains Assets, Liabilities, Owner - equity at a point of time.

Basic balance sheet equation may be stated as follows:


ASSETS = LIABILITIES = NET WORTH

a)   Assets :  Anything of value


Tangible : Physical


Intangible : Non-physical (Trade mark, Paten)


Also,



Current :  Cash plus those assets that can be converted to cash or sold during the normal operating cycle, e.g. cash, inventory, Accounts receivable, stocks and bonds.



Fixed :

Cannot be converted to cash (close to their value) quickly, e.g. Building, equipment, etc.

b)
Liabilities : Money & services owed to others



Current Liability : Liability due within the coming year, e.g. Accounts payable, accrued expenses payable, wages, interest, taxes.



Long term Liability : Due beyond a year.

c)
Owner Equity (Net Worth)



Total residual interest in the business (excess of assets over liabilities)



Net working capital = Current Assets -Minus- Current Liabilities







(See Fig. 9.2 Example)



Book value of common stock =
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2.
Income Statement (Profit & Loss)

It is a summary describing the revenue (income) and expenses during a period of time, e.g. January - December, 1988 and shows the Profit OR Loss during that period.




Gross Income


X




Expenses (Incl. Taxes)
Y







         ____





NET INCOME       (X - Y)

-  Profit is not always indicative of Management quality of the Company.





(See Fig. 9.1. Example) REF.#2
Financial Analysis :

*  Absolute numbers do not have much significance

*  Use financial Ratios and compare with industry

*  Type of Financial Ratios :


1.
Liquidity Ratio :
Measures the firm's ability to meet its short term obligations.

a) Current ratio = 
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b)
Quick ratio = 
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2.
Leverage Ratio :
Measures the extent to which the firm has been financed by debt.



a)
Debt Ratio = 
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3.
Activity Ratio :
Measures how effectively the firm is using its resources.



a)
Fixed Asset turnover = 
[image: image5.wmf]Assets

Fixed

Net

value

contract

Annual




b)
Total Asset turnover = 
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c)
Net worth turnover




OR Capital turnover = 
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4.
Profitability Ratio :  Measures the management overall effectiveness as shown by returns.


a)
Profit margin = 
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b)
Return on total assets = 
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c)
Return on net worth = 
[image: image10.wmf]worth

Net

profit

Net





(See Example base on Fig. 9.1 & 9.2)(Extracted from Ref.#2)
The following data are taken from Figures 9.1 and 9.2:

Current assets

=
$1,679,791,31

Current liabilities
=
  1,181,420.25

Total assets

=
  1,834,553.29

Total liabilities
=
  1,188.897.97

Fixed assets

=
     141,984.01

Tangible net worth


=
    645,655.32

Net working capital = current


assets - current liabilities
=
    498,371.06

Net profits (after taxes)

=
    115,408.08

Annual volume


=
 8,859,138.39

1.
Current assets to current liabilities = 
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[Gen. Bldg. - 1.54
    Heavy Const. - 1.98]

2.
Net profits on annual volume = 
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[Gen. Bldg. - 12.73   Heavy Const. - 2.09]

3.
Net profits on tangible net worth = 
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[Gen. Bldg. - 12.73   Heavy Const. - 8.61]

4.
Net profits on net working capital = 
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[Gen. Bldg. - 17.43   Heavy Const. - 20.55]

5.
Annual volume to tangible net worth = 
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[Gen. Bldg. - 8.99     Heavy Const. - 4.12]

6.
Annual volume to net working capital = 
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[Gen. Bldg. - 13.43     Heavy Const. - 7.83]

7.
Fixed assets to tangible net worth = 
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[Gen. Bldg. - 24.8     Heavy Const. - 52.0]

8.
Current liabilities to tangible net worth = 
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[Gen. Bldg. - 133.1     Heavy Const. - 50.0]

9.
Total liabilities to tangible net worth = 
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[Gen. Bldg. - 202.8     Heavy Const. - 101.7]
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